



Detailed Touch Events

04/20/2023 02:30 PM | Travel to SB 04/21/2023 07:00 AM | Install Ballroom 04/21/2023 10:00 AM | Install Pool Area & Study

04/21/2023 10:00 PM | Strike Pool Area **04/22/2023** 08:00 AM | Install Lawn Areas - Cocktails & Dinner

04/22/2023 03:30 PM | Guest Arrvial 04/22/2023 10:30 PM | Strike Lawn Areas -Cocktails & Dinner

04/23/2023 02:30 AM | Strike Ballroom **04/24/2023** 08:30 AM | Travel to LA

PO: Shipping Address: Rosewood Miramar Santa Barbara Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Friday April 21st	Welcome Party				
	Hedge Bar 12'D Round - Glass Top	1	\$3,000.00	Т	\$3,000.00
	Boston Round Backbar - Painted Black	1	\$300.00	Т	\$300.00
	Siena Dining Table Round 72"D	9	\$550.00	Т	\$4,950.00
	Siena Dining Table Rectangle 8' x 48"D	4	\$550.00	T	\$2,200.00
	Oversize Props - Monstera Leaf Stand Oversize Props - Monstera Leaf - Curved painted black	5	\$850.00	Т	\$4,250.00
	Oversize Props - Palm Leaves TBD Color	4	\$1,250.00	Т	\$5,000.00
	Hedge DJ Facade Booth w. Table	1	\$450.00	Т	\$450.00
	Sofas - Lisbon Yellow Velvet	1	\$450.00	Т	\$450.00
	Sofas - Lisbon Teal Velvet	1	\$450.00	Т	\$450.00

Description		Qtty	Price		Total
	Sofas - Lisbon Orange Velvet	1	\$450.00	Т	\$450.00
	Lisbon Side Chair Orange Velvet	2	\$225.00	T	\$450.00
	Lisbon Club Chair Orange Velvet	2	\$275.00	Т	\$550.00
	Lisbon Club Chair Yellow Velvet	2	\$275.00	Т	\$550.00
	Lisbon Side Chair Yellow Velvet	2	\$225.00	Т	\$450.00
	Lisbon Club Chair Teal Velvet	2	\$275.00	Т	\$550.00
	Frankfurt Bar 12'L - Gold Top Black Base	1	\$1,450.00	Т	\$1,450.00
	Nice Barback - Light Up Columns Pale Gold	1	\$375.00	Т	\$375.00
ATTY.	Segovia Coffee Table - Smokey Glass w, Brass Frame	3	\$250.00	Т	\$750.00
	Segovia Accent Table - Smokey Glass Top w. Brass Frame	6	\$115.00	T	\$690.00
		tal Friday April	21st Welcome P	arty	\$27,315.00
Friday April 21st	Interior Study				
	Perimeter Drape - Navy Velvet	1	\$750.00	Т	\$750.00
	Bora Bora Barback - Gold (3 Piece Set)	2	\$250.00	Т	\$500.00
		otal Friday Apri	l 21st Interior St	udy	\$1,250.00
Saturday April 22	nd - Interior Study				
	Carmel Straight Bar 10'L burlap channeled front with reclaimed wood top	1	\$850.00	T	\$850.00

Description		Qtty	Price		Total
	London Club Chair - Pony Chair Brown	2	\$250.00	Т	\$500.00
	Hamptons Accent Chair - Gold	2	\$175.00	Т	\$350.00
	Coffee Tables - Brussels Gold Leaf	2	\$250.00	Т	\$500.00
	Console Tables - Venice Mirrored Large	1	\$200.00	Т	\$200.00
	Palermo Club Chair - Natural	2	\$250.00	Т	\$500.00
	Sofas - Palermo Natural 8'L	1	\$450.00	Т	\$450.00
	Paris Coffee Table - Gold	1	\$225.00	Т	\$225.00
	Aspen Dining Chairs - White Wash w. Oatmeal Linen	12	\$25.00	Т	\$300.00
	Total Sati	turday April 22nd - Interior Study		udy	\$3,875.00
Saturday April 2	2nd - Cocktails Lawn				
	Boston Round Bar 12'D - HALF ONLY Painted white Paired with two straight sections to create a "U" shape bar	1	\$1,600.00	Т	\$1,600.00
	Tokyo Barback 6'L - Gold REUSED AT COCKTAILS ON SATURDAY	2	\$250.00	Т	\$500.00
	London Bar 6'L - Painted White Paired with round bar sections to create a "U" shape bar	2	\$950.00	Т	\$1,900.00
	Boston Bar Room - White w. Cuutom Wallpaper Accent 122" X 86" X 93" H To create a facade of a "Bell Hop" for Escort Cards (200) pegs for hanging escort Keys	1	\$6,950.00	Т	\$6,950.00
	Palermo Club Chair White	8	\$250.00	Т	\$2,000.00

Description		Qtty	Price		Total
	Florence Club Chair White	4	\$225.00	T	\$900.00
	Palermo Sofa - White 6'	2	\$400.00	Т	\$800.00
	Palermo Sofa - White 8'	4	\$450.00	Т	\$1,800.00
	Paris Coffee Table - Gold Frame	6	\$225.00	Т	\$1,350.00
	Aspen Dining Chair - White Wood w, White Linen	40	\$25.00	Т	\$1,000.00
	Total Sa	turday April 22	nd - Cocktails La	awn	\$18,800.00
Saturday April 22	2nd - Wedding Lawn				
	Versailles Basket Chandelier Small - One Tier 44"W x 47"H - 70 Lb - 1,025 watts	6	\$800.00	Т	\$4,800.00
adia.	Versailles Basket Chandelier Small - Two Tier 44"W x 53"H - Weight 80 Lb - 950 watts	6	\$800.00	T	\$4,800.00
	Wood Moulding Panel 36"W x 10'h paint in black satin **required trussing support for build**	11	\$550.00	Т	\$6,050.00
-	Stage Fronts - Boston w. Mirror 8'x34"H paint in black satin	4	\$275.00	Т	\$1,100.00
	Round Booth Champagne Velvet (2pcs)	12	\$675.00	T	\$8,100.00
	Straight Banquette Pasadena Ivory 6'L	4	\$400.00	Т	\$1,600.00
	Custom Cover - Straight Banquette in matching champagne to the round booths	4	\$450.00	Т	\$1,800.00
	Total Sa	aturday April 22	nd - Wedding La	awn	\$28,250.00
Saturday April 22	2nd - Ballroom				
	Hallway Perimeter Drape - Champagne Vevet	1	\$9,400.00	Т	\$9,400.00
	Hallway Perimeter Valance - Champagne Dupioni	1	\$2,050.00	Т	\$2,050.00

Description		Qtty	Price		Total
	Ballroom Perimeter Drape - Champagne Velvet	1	\$13,800.00	Т	\$13,800.00
	Ballroom Perimeter Valance - Champagne Dupioni	1	\$2,250.00	Т	\$2,250.00
	Tuscany Panel w. Antique Mirror - TBD Color 4'W X 13'H to create stage backdrop	7	\$715.00	Т	\$5,005.00
	Beverly Hills Sofa - Taupe W/ Silver Legs	4	\$400.00	Т	\$1,600.00
	Hollywood Accent Chair Taupe	4	\$225.00	Т	\$900.00
	Hollywood Club Chair Taupe W/ Gold Frame	4	\$250.00	Т	\$1,000.00
	Ottomans - Hollywood - Beige W/ Brass Base	8	\$85.00	Т	\$680.00
	Boston Lounge Booth - Taupe Velvet (4pcs)	6	\$715.00	Т	\$4,290.00
W	Hollywood Coffee Table - Zig Zag Gold Base ROUND GLASS TOP 48"D	6	\$275.00	Т	\$1,650.00
	Ottoman Pod 18"D taupe velvet to match Boston Booth	24	\$50.00	Т	\$1,200.00
	Madrid Coffee Table (3pcs) - Gold w. Marble	4	\$250.00	Т	\$1,000.00
	Accent Table - Madrid Fuji Marble Top	2	\$100.00	Т	\$200.00
	Accent Table - Madrid Giusti Marble Top	4	\$100.00	Т	\$400.00
	Accent Table - Madrid - Het Lo Marble Top	2	\$100.00	Т	\$200.00
	London Bar 6'L - TBD Color	2	\$850.00	Т	\$1,700.00

Description		Qtty	Price		Total
	London Bar 8'L - TBD Color	4	\$950.00	Т	\$3,800.00
	Accent Pillows	85	\$30.00	Т	\$2,550.00
	Naples Barback - Gold Leaf	2	\$200.00	Т	\$400.00
		Total Saturday	/ April 22nd - Ballr	oom	\$54,075.00
Saturday April 2	2nd Outer Patio				
1	Beverly Hills Club Chair Taupe w. Gold Legs	4	\$250.00	Т	\$1,000.00
	Frankfurt Coffee Table - Smokey Glass Top w. Gold Frame	1	\$275.00	T	\$275.00
	Ottoman Pod 18"D Taupe Covers	12	\$50.00	Т	\$600.00
		Total Saturday	April 22nd Outer F	Patio	\$1,875.00
Services					
	Subrental Crew: Install & Strike Pool Event	8	\$1,250.00		\$10,000.00
	Subrental Trucking: Pool Event	4	\$600.00	Т	\$2,400.00
	Subrental Accommodations: Hotel Room - Friday	4	\$400.00		\$1,600.00
	Subrental Accommodations: Perdiem (2) Days	8	\$144.00		\$1,152.00
	R Installers: Travel Days (1)	16	\$250.00		\$4,000.00
	R Installers: Install Lawn Areas	8	\$550.00		\$4,400.00
	R Installers: Strike Lawn Areas	8	\$550.00		\$4,400.00
	R Trucking : Lawn Areas	4	\$600.00	Т	\$2,400.00
	R Installers: Install Ballroom (2) Days	8	\$1,050.00		\$8,400.00
	R Installers: Strike Ballroom	8	\$550.00		\$4,400.00
	R Trucking: Ballroom & Study	3	\$600.00	Т	\$1,800.00
	R Trucking: Fuel Surcharge	7	\$65.00	Т	\$455.00
	R Accommodations: Hotel Rooms (3) Nights price approx until confirmed Ballroom & Study Crew	4	\$950.00		\$3,800.00
	R Accommodations: Hotel Rooms (2) Nights price approx until confirmed Lawn Areas: Cocktails & Reception	4	\$750.00		\$3,000.00
	R Accommodations: Perdiem (4) Days	8	\$288.00		\$2,304.00

Description		Qtty	Price	Total
R Accommodation	ons: Perdiem (3) Days	8	\$216.00	\$1,728.00
Manager: Onsite	for (2) Days	1	\$1,500.00	\$1,500.00
Manager: Hotel F	Room for (2) Nights	1	\$1,400.00	\$1,400.00
Manager: Perdier	m (3) Days	1	\$216.00	\$216.00
Certificates: Flan	ne Proofing	1	\$950.00	\$950.00
Supplies: Misc		1	\$1,250.00	\$1,250.00
Please make checks payable to Revo	elry, Inc.		Total Products:	\$135,440.00
Note: Prior to deliveries and pick-up	s all invoices must be nay in full	Total La	bor/Services/Misc:	\$61,555.00
Please ready the contract and sign in			Taxes:	\$13,537.03
			Discounts:	(\$0.00)
Notes			Total:	\$210,532.03
			Payments:	(\$1,500.00)
			Balance:	\$209,032.03